

A recursive formula for even order harmonic series *

Iickho SONG

Bell Communications Research, 435 South Street, 2A-259, Morristown, NJ 07960-1961, U.S.A.

Received 5 August 1987

Abstract: A useful recursive formula for obtaining the infinite sums of even order harmonic series $\sum_{n=1}^{\infty} (1/n^{2k})$, $k=1, 2, \dots$, is derived by an application of Fourier series expansion of some periodic functions. Since the formula does not contain the Bernoulli numbers, infinite sums of even order harmonic series may be calculated by the formula without the Bernoulli numbers. Infinite sums of a few even order harmonic series, which are calculated using the recursive formula, are tabulated for easy reference.

Keywords: Harmonic series, recursive formula, Fourier series, infinite sum.

1. Introduction

The infinite series

$$\sum_{n=1}^{\infty} \frac{1}{n^{1+\epsilon}} \quad (1)$$

is known to converge to a finite value for any positive value of ϵ . When ϵ is a positive integer, the infinite sum of the series (1) can be calculated as [1]:

$$\sum_{n=1}^{\infty} \frac{1}{n^{1+m}} = \frac{(-1)^m}{m!} \Psi^{(m)}(1), \quad m = 1, 2, \dots, \quad (2)$$

where the psi function Ψ is defined by

$$\Psi(x) = \Gamma'(x)/\Gamma(x), \quad (3)$$

with Γ being the gamma function. In addition, when ϵ is an odd integer (that is, in the case of *even order harmonic series*), the infinite sum of the series (1) can also be calculated by the formula,

$$\sum_{n=1}^{\infty} \frac{1}{n^{2k}} = (-1)^{k-1} \frac{(2\pi)^{2k}}{2(2k)!} B_{2k}, \quad k = 1, 2, \dots, \quad (4)$$

where B_i , $i = 1, 2, \dots$, are the Bernoulli numbers and can be calculated by the formula,

$$\sum_{k=0}^m C_k B_k = 0, \quad m = 1, 2, \dots, \quad (5)$$

with $B_0 = 1$ [2,3]. More typical values of the Bernoulli numbers may be found in [1].

* Work done while with the Department of Electronics Engineering, Seoul National University, Seoul, Korea.

As we can see from (4) and (5), in order to find the infinite sum of an even order harmonic series by (4), it is required first to calculate the Bernoulli number.

In this paper, using Fourier series expansion of appropriate periodic functions, a recursive formula for obtaining the infinite sums of even order harmonic series will be derived which does not require the calculation of Bernoulli numbers; that is, the main objective in this paper is to find a formula with which the infinite sums of even order harmonic series can be obtained without an intervening parameter.

2. A recursive formula for even order harmonic series

The Fourier series of a periodic function $g(x)$ may be expressed as

$$g(x) = A_0 + \sum_{n=1}^{\infty} \left[A_n \cos \frac{2\pi nx}{T} + B_n \sin \frac{2\pi nx}{T} \right], \quad (6)$$

where T is the period of $g(x)$, and A_0 , A_n and B_n , $n = 1, 2, \dots$, are called the Fourier coefficients of the function [4,5].

In order to derive the desired formula, let us consider the functions $f_k(x)$, $k = 1, 2, \dots$, defined by

$$f_k(x) = (x - \pi)^{2k}, \quad 0 \leq x \leq \pi, \quad (7)$$

with $f_k(-x) = f_k(x)$ and $f_k(x + 2\pi) = f_k(x)$. For the functions $f_k(x)$, $k = 1, 2, \dots$, it is quite easy to see that the Fourier coefficients $B_n = 0$, $n = 1, 2, \dots$, and therefore they can be expressed by the following Fourier series,

$$f_k(x) = a_{2k,0} + \sum_{n=1}^{\infty} a_{2k,n} \cos nx = \sum_{n=0}^{\infty} a_{2k,n} \cos nx, \quad (8)$$

where the Fourier coefficients $a_{2k,n}$, $n = 0, 1, \dots$, (in which the dependence on k is now explicitly denoted) are given by (see Appendix A)

$$a_{2k,0} = \pi^{2k}/(2k+1) \quad (9)$$

and

$$a_{2k,n} = \frac{4k\pi^{2k-2}}{n^2} - \frac{2k(2k-1)}{n^2} a_{2k-2,n}, \quad n = 1, 2, \dots \quad (10)$$

After some manipulations as shown in Appendix B, (10) can be transformed into

$$a_{2k,n} = \frac{2(2k)! \pi^{2k-2}}{n^2} \sum_{j=1}^{k-1} \left(\frac{-1}{n^2 \pi^2} \right)^j \frac{1}{(2k-2j-1)!}, \quad n = 1, 2, \dots \quad (11)$$

Once we have (8), (9) and (11), it is quite straightforward to proceed and to obtain the desired formula. Let us put $x = 0$ in (8), and use (9) and (11) to get

$$\pi^{2k} = \frac{\pi^{2k}}{2k+1} + \pi^{2k-2} \sum_{n=1}^{\infty} \frac{2(2k)!}{n^2} \sum_{j=1}^{k-1} \left(\frac{-1}{n^2 \pi^2} \right)^j \frac{1}{(2k-2j-1)!}. \quad (12)$$

After a few steps as shown in Appendix C, (12) becomes

$$C_k = (-1)^{k-1} \pi^{2k} \left[\frac{k}{(2k+1)!} - \sum_{j=0}^{k-2} \frac{1}{(2k-2j-1)!} \left(\frac{-1}{\pi^2} \right)^j \frac{C_{j+1}}{\pi^2} \right], \quad (13)$$

where

$$C_j = \sum_{n=1}^{\infty} \frac{1}{n^{2j}}, \quad j = 1, 2, \dots, \quad (14)$$

are the infinite sums of even order harmonic series. If we proceed one step further for notational convenience, we finally get the desired formula

$$S_k = (-1)^k \left[\sum_{j=1}^{k-1} \frac{(-1)^{j-1}}{(2k-2j+1)!} S_j - \frac{k}{(2k+1)!} \right], \quad k = 1, 2, \dots, \quad (15)$$

from (13) after a few rearrangements with the definition

$$S_k = \frac{1}{\pi^{2k}} \sum_{n=1}^{\infty} \frac{1}{n^{2k}} = \frac{C_k}{\pi^{2k}} \quad (16)$$

and

$$S_1 = 1/3!. \quad (17)$$

Some values of $1/S_k$ obtained by the recursive formula (15) and (17) are shown in Table 1.

3. Summary

In summary a recursive formula for obtaining infinite sums of even order harmonic series is derived using Fourier series expansion of periodic functions. While the infinite sums of even order harmonic series can also be calculated by other well-known results, the formula derived in this paper does not require *a priori* knowledge of the Bernoulli numbers. A few values obtained by the formula are shown to illustrate the usefulness of the formula.

Table 1
Some values of $1/S_k$

k	$1/S_k$	k	$1/S_k$
1	6	7	$\frac{3 \cdot 13!}{2^{11}}$
2	90	8	$\frac{3 \cdot 5 \cdot 17!}{2^{14} \cdot 3617}$
3	945	9	$\frac{7! \cdot 19!}{2^{20} \cdot 3 \cdot 5 \cdot 43867}$
4	9450		
5	93555		
6	$\frac{15!}{2^{11} \cdot 691}$		

Appendix A

Calculation of Fourier coefficients

$$a_{2k,0} = \frac{1}{\pi} \int_0^\pi (x - \pi)^{2k} dx = \frac{\pi^{2k}}{2k+1}, \quad (\text{A.1})$$

$$\begin{aligned} a_{2k,n} &= \frac{2}{\pi} \int_0^\pi (x - \pi)^{2k} \cos nx \, dx \\ &= \frac{2}{\pi} \left\{ \left[\frac{(x - \pi)^{2k}}{n} \sin nx \right]_0^\pi - \frac{2k}{n} \int_0^\pi (x - \pi)^{2k-1} \sin nx \, dx \right\} \\ &= -\frac{4k}{n\pi} \int_0^\pi (x - \pi)^{2k-1} \sin nx \, dx \\ &= -\frac{4k}{n\pi} \left\{ -\left[\frac{(x - \pi)^{2k-1}}{n} \cos nx \right]_0^\pi + \frac{2k-1}{n} \int_0^\pi (x - \pi)^{2k-2} \cos nx \, dx \right\} \\ &= \frac{4k\pi^{2k-2}}{n^2} - \frac{2k(2k-1)}{n^2} a_{2k-2,n}. \end{aligned} \quad (\text{A.2})$$

Appendix B

Derivation of (11)

Several methods may be used to derive (11) including induction and direct iteration of (10). In this appendix one of the possible derivations is given. Let us first define some quantities for notational convenience: let

$$\alpha_k = 4k/n^2\pi^2 \quad (\text{B.1})$$

and

$$\beta_k = -2k(2k-1)/n^2\pi^2. \quad (\text{B.2})$$

Then we have

$$b_{2k} = \alpha_k + \beta_k b_{2k-2}, \quad (\text{B.3})$$

where

$$b_{2k} = a_{2k,n}/\pi^{2k}. \quad (\text{B.4})$$

Now by consecutively decreasing the index k in (B.3) by 1 and multiplying appropriate quantities and adding them up, we get

$$\begin{aligned} b_{2k} &= \alpha_k + \beta_k b_{2k-2} \\ \beta_k b_{2k-2} &= \beta_k \alpha_{k-1} + \beta_{k-1} \beta_k b_{2k-4} \\ &\vdots \\ \beta_3 \beta_4 \cdots \beta_k b_4 &= \beta_3 \beta_4 \cdots \beta_k \alpha_2 + \beta_2 \beta_3 \cdots \beta_k b_2 \\ \hline b_{2k} &= \alpha_k + \alpha_{k-1} \beta_k + \cdots + \beta_2 \beta_3 \cdots \beta_k \frac{4}{n^2\pi^2}. \end{aligned} \quad (\text{B.5})$$

Now noting that

$$\begin{aligned}
 \beta_k \beta_{k-1} \cdots \beta_{k-j} &= \frac{(-2k)(2k-1)}{n^2 \pi^2} \frac{(-2k+2)(2k-3)}{n^2 \pi^2} \cdots \\
 &\quad \frac{(-2k+2j)(2k-2j-1)}{n^2 \pi^2} \\
 &= \frac{(-2)^{j+1}}{(n\pi)^{2(j+1)}} k(k-1) \cdots (k-j)(2k-1)(2k-3) \cdots (2k-2j-1),
 \end{aligned} \tag{B.6}$$

(B.5) can be expressed as

$$\begin{aligned}
 b_{2k} &= \frac{4k}{n^2 \pi^2} + \frac{4(k-1)}{n^2 \pi^2} \frac{(-2k)(2k-1)}{n^2 \pi^2} + \cdots \\
 &\quad + \frac{(-2)^{k-1} k(k-1) \cdots 2 \cdot 1 \cdot (2k-1)(2k-3) \cdots 3 \cdot 1}{(n\pi)^{2(k-1)}} \frac{4}{n^2 \pi^2} \\
 &= \frac{4}{n^2 \pi^2} \left[k + \frac{(-2)}{n^2 \pi^2} k(k-1)(2k-1) + \left(\frac{-2}{n^2 \pi^2} \right)^2 k(k-1)(k-2)(2k-1)(2k-3) \right. \\
 &\quad \left. + \cdots + \left(\frac{-2}{n^2 \pi^2} \right)^{k-1} k(k-1) \cdots 2 \cdot 1 \cdot (2k-1)(2k-3) \cdots 3 \cdot 1 \right].
 \end{aligned} \tag{B.7}$$

Since the $(j+1)$ th term in the bracket of (B.7) is

$$\begin{aligned}
 &\left(\frac{-2}{n^2 \pi^2} \right)^j k(k-1) \cdots (k-j)(2k-1)(2k-3) \cdots (2k-2j-1) \\
 &= \frac{(-1)^j \cdot 2}{(n^2 \pi^2)^j} k(k-j) \frac{(2k-1)!}{(2k-2j)!},
 \end{aligned} \tag{B.8}$$

we finally get

$$\begin{aligned}
 b_{2k} &= \frac{4}{n^2 \pi^2} \sum_{j=0}^{k-1} \frac{(-1)^j \cdot 2}{(n^2 \pi^2)^j} k(k-j) \frac{(2k-1)!}{(2k-2j)!} = \frac{8k(2k-1)!}{n^2 \pi^2} \sum_{j=0}^{k-1} \frac{(-1)^j (k-j)}{(n^2 \pi^2)^j (2k-2j)!} \\
 &= \frac{4k(2k-1)!}{n^2 \pi^2} \sum_{j=0}^{k-1} \left(\frac{-1}{n^2 \pi^2} \right)^j \frac{1}{(2k-2j-1)!}.
 \end{aligned} \tag{B.10}$$

(11) immediately follows from (B.4) and (B.10).

Appendix C

Derivation of (13)

If we divide (12) by π^{2k} and then rearrange the result, we get

$$\frac{2k}{2k+1} = \frac{2(2k)!}{\pi^2} \sum_{n=1}^{\infty} \frac{1}{n^2} \sum_{j=0}^{k-1} \frac{1}{(2k-2j-1)!} \left(\frac{-1}{n^2 \pi^2} \right)^j$$

or

$$\frac{k \pi^2}{(2k)!(2k+1)} = \sum_{j=0}^{k-1} \frac{1}{(2k-2j-1)!} \left(\frac{-1}{\pi^2} \right)^j \sum_{n=1}^{\infty} \left(\frac{1}{n^2} \right)^{j+1}. \quad (\text{C.1})$$

Now if we use (14) in (C.1) we get

$$\begin{aligned} \frac{k}{(2k+1)!} &= \sum_{j=0}^{k-1} \frac{1}{(2k-2j-1)!} \left(\frac{-1}{\pi^2} \right)^j \frac{C_{j+1}}{\pi^2} \\ &= \sum_{j=0}^{k-2} \frac{1}{(2k-2j-1)!} \left(\frac{-1}{\pi^2} \right)^j \frac{C_{j+1}}{\pi^2} + \left(\frac{-1}{\pi^2} \right)^{k-1} \frac{C_k}{\pi^2}. \end{aligned} \quad (\text{C.2})$$

After a slight rearrangement we finally get

$$C_k = (-1)^{k-1} \pi^{2k} \left[\frac{k}{(2k+1)!} - \sum_{j=0}^{k-2} \frac{1}{(2k-2j-1)!} \left(\frac{-1}{\pi^2} \right)^j \frac{C_{j+1}}{\pi^2} \right]. \quad (\text{C.3})$$

References

- [1] H.T. Davis, *The Summation of Series* (Principia Press of Trinity University, San Antonio, TX, 1962).
- [2] M. Abramowitz and I.A. Stegun, Ed., *Handbook of Mathematical Functions* (National Bureau of Standards, Washington, D.C., 1972).
- [3] K. Knopp, *Infinite Sequences and Series* (Dover, New York, 1956).
- [4] R.E. Ziemer and W.H. Tranter, *Principles of Communications* (Houghton Mifflin, Boston, MA, 1976).
- [5] A. Papoulis, *Fourier Integral and Its Applications* (McGraw-Hill, New York, 1962).